
współrzędne
Współrzędne geodezyjne przepustów ochronnych

Ep1   X = 5917702.50     Y = 5465774.69
Ep2   X = 5917690.77     Y = 5465792.69
Ep3   X = 5917681.95     Y = 5465806.27
Ep4   X = 5917679.64     Y = 5465809.94
Ep5   X = 5917677.48     Y = 5465814.89
Ep6   X = 5917661.18     Y = 5465852.21
Ep7   X = 5917644.88     Y = 5465889.53
Ep8   X = 5917639.61     Y = 5465901.62
Ep9   X = 5917619.08     Y = 5465948.63
Ep10  X = 5917607.30     Y = 5465975.14
Ep11  X = 5917586.56     Y = 5466021.83
Ep12  X = 5917583.31     Y = 5466029.14
Ep13  X = 5917580.06     Y = 5466036.45
Ep14  X = 5917563.31     Y = 5466074.15
Ep15  X = 5917556.77     Y = 5466088.99
Ep16  X = 5917539.09     Y = 5466130.47
Ep17  X = 5917532.85     Y = 5466145.10
Ep18  X = 5917519.64     Y = 5466175.69
Ep19  X = 5917502.96     Y = 5466213.60
Ep20  X = 5917496.56     Y = 5466227.99
Ep21  X = 5917472.78     Y = 5466281.50
Ep22  X = 5917470.80     Y = 5466287.72
Ep23  X = 5917470.08     Y = 5466293.20
Ep24  X = 5917470.15     Y = 5466298.74
Ep25  X = 5917471.09     Y = 5466302.80
Ep26  X = 5917473.13     Y = 5466306.41
Ep27  X = 5917476.60     Y = 5466310.35
Ep28  X = 5917482.04     Y = 5466314.85
Ep29  X = 5917496.07     Y = 5466321.52
Ep30  X = 5917507.74     Y = 5466326.64
Ep31  X = 5917516.10     Y = 5466330.32
Ep32  X = 5917535.90     Y = 5466339.02
Ep33  X = 5917550.53     Y = 5466345.50
Ep34  X = 5917571.24     Y = 5466354.72
Ep35  X = 5917583.70     Y = 5466360.19
Ep36  X = 5917606.05     Y = 5466369.96
Ep37  X = 5917620.62     Y = 5466376.42
Ep38  X = 5917632.92     Y = 5466381.77
Ep39  X = 5917647.61     Y = 5466388.11
Ep40  X = 5917652.60     Y = 5466390.31
Ep41  X = 5917664.95     Y = 5466395.75
Ep42  X = 5917684.41     Y = 5466404.29
Ep43  X = 5917700.64     Y = 5466411.42
Ep44  X = 5917716.87     Y = 5466418.55
Ep45  X = 5917780.57     Y = 5466446.55
Ep46  X = 5917786.93     Y = 5466449.51
Ep47  X = 5917793.20     Y = 5466452.31
Ep48  X = 5917800.31     Y = 5466455.44
Ep49  X = 5917813.71     Y = 5466461.33
Ep50  X = 5917827.34     Y = 5466467.32
Ep51  X = 5917824.92     Y = 5466473.69
Ep52  X = 5917831.71     Y = 5466476.67
Ep53  X = 5917839.37     Y = 5466480.04
Ep54  X = 5917853.11     Y = 5466486.07
Ep55  X = 5917873.73     Y = 5466495.14
Ep56  X = 5917888.34     Y = 5466501.54
Ep57  X = 5917891.23     Y = 5466505.54
Ep58  X = 5917924.45     Y = 5466520.13
Ep59  X = 5917929.73     Y = 5466519.74
Ep60  X = 5917935.51     Y = 5466522.29
Ep61  X = 5917937.34     Y = 5466523.43
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